
 Revision Worksheet
TOPICS: 1. Sets 2. Function s 3. Trigonometry and Bearing 
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[bookmark: _GoBack]Answers:  Q.1a) -2, b) (x-4) / 3
                  Q.2a)i) 8, ii) 18, b)i) 5, ii) (0, 1), (2, 5)
                 Q.3a) 2, b) c = 3, c) d = -5
                 Q.4a) 068®, b) ) 199® to  ) 200®
                 Q.5a)i)  2 ii) 2.65 to 2.70 b)i) k = 0.5, ii) a = 3
                Q.6) 31m
               Q.7a) 068®) 348®, b) 218®
              Q.8a) -1<x4, b) {(1, 3), (1, 5), (3, 5) and (5, 3)}
             Q.9c) 
            Q.10a) straight line from (0, 0) to (30, 18) to (40, 18),  
                   b 0.8 m/s2, c)11.25 m/s
           Q.11a) 500m, b) 0.5m/s2
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(@) The diagram shows the graphs of

y=2 and
y=2x-1

@ State the gradient of the line
y=2x-1

() Find the value of x such that
x>0 and 2x=1=2°
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A manwho is 1.8 m tall stands on horizontal ground 50m from a vertical tree.

The angle of elevation of the top of the ree from his eyes is 30°

‘Use as much of the information belorw as is necessary to calculate an estimate of the height of
the tree

Give the answer to a reasonable degree of accuracy:

[930°=0.5., cos 30°=0.866., tan 30°=0.577]
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A is due North of O. B

(@ A ship saild om 010 3 where 403 = 127
it do the g of B o

Bl

(B AtB, the ship tumed and ssiledto C, where OBC'= 50~
Calculate the bearig of C from .
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4 3 2 4 0 1T 3 ¥ 4

The set.4= {x: 1 =x< 3} is shown on the mumber line above.

@ Set Bis shown on the sumber line belorw.

4 3 32 X 0 1 3 3
‘Complete the description i the ansiwer space.
Answer (@)6) B= {x x 3

@) ThesetC=(x:x=-3}
Iiustrate the set C" using the sumber linein the answer space.

Answer (@) —————F—F—F—+—+—1+—1—
<4 3 2 4 0 1 3 3 4

) X={L3.5), T=(.5). Z= (@) xeXye Lrsl
List the memmbers of 2.
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©

‘The diagram in the answer space i a sketch of the graph ofy= 3 forx>0.
g e o

‘Sketch the graph of y = x on the diagram in the answer space.

e gt oty 3 sndy =t
Fund e v o .
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A car accelerates uniformly from rest for 30 seconds.
Its speed after 30 seconds is 18ms.
‘The speed remains constant for the next 10 seconds.

(@) Drawthe speed-time graph for the first 40 seconds of the joumey.

Answr (o)

®) Caleatate

Time (seconds)

@ the car’s acceleration during the first 30 seconds,

(@) its average speed for the first 40 seconds.
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A cyclist took 30 seconds to ride from A to B.

The diagram is the speed-time graph of his ride.

() the distance from A t0 3,
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(b) his retardation during the final 10 seconds.
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A function is defined by f(x) =3x + 4.
(@ Giventhat (k) =k find k.

(b) Find the inverse of f.
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(@) Ina group of language students,
24 studied Spanish, 23 studied French and 15 studied German,
12 studied Spanish and French,
10 studied German and French,
6 studied Spanish and German,
4 studied all three languages.
By drawing a Venn diagram. or otherwise, calculate the number of students who
studied

(i) both Spanish and French, but not German,
(i) only one language.
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(b) The set A consists of the points whose coordinates (x.y) are given by
A=((e):y=20-1).
The points in set B are

by B=1(0.0).(0.1).(1,2). (2.5). 3.6)).
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A function £ defined by £oxe> 532

(@ Given that £:10— k. find the value of k.

(b) Given also that £:x+— cx + ., find the value of ¢ and the value of .
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5 Fl

4B 204 C are three ships.
B is due West of 4

(@) Giventht ABC=22°, it doventhe being o C fom 2,

(b) By wsing your protractor, ind the bearing of A fom C.




